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37| 80 mm x 80 mm x 22 mm [3.1 in x 3.1 in x 0.87 in]
A 140 g
HE UF0lE e
C|AZEg0] TFT
uH Y 5V
U HF 1A
HHE{ 2| 2| & 0|2 M=TX| 10A|Zt HiE{E| =X
HiElZ| 83 2,600 mAh
s 25 0°C to 40°C, 0% RH to 90% RH
USB £E Micro USB
- EEEE
MA el
CO2 (NDIR) 400 ppm to 2000 ppm, up to 10,000 ppm extened range
2k -20°C to 60°C or -4°F to 140°F
=i 0%RH to 100%RH

Lto sl MK <800 ppm 800 ppm 1100 ppm
TEEeEe 0.043% 2 2% 0.043% 2 9| 0051% 2% 2%
=7t st AN <700 ppm 700 ppm 1000 ppm
et =o =9 340% 2S 9 340% 29 9/ 541% 2% 2%
Lo e MY <500 ppm 500 ppm 800 ppm
m=Ee =e 7.32% 2 9 7.32% 49 9/ 2525% Z+Q 9/
INE=YN PSSP Z|E AL} B FHX[ Q| *fﬂxf XE EEE MESI0] ALZAO| 0NV M=ot 22, XY 8l = Q7 Atelo]| 2t Z:
° °=° YA 2 BEE = 2 » SLICH 22 AR} A MHS ARSI 29 ol 2 MHo| EH 27 AlYE 53
St=%| 2*°|3}E el *°E *PQ-I}Oﬂ}II A Ef
A B - 2 g7 SA| AU =7
°=° HVAC T 7}5 gs =4
S HofL S¢H HofL
20| mE =7t &Y 20| mE =7t &Y
e — HZ x 1 HZE x 2




